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b beta t P b beta t p b beta t p b beta t p
const. 8.876 6.300 0.000 6.437 4.586 0.000 -4.779 -2.834  0.006  -5.948 -4.590  0.000
motivation 1.317 0.273 2920 0.004 0.554 0.115 1238 0.219 0.833 0.173 2416 0.017 0271 0.056 0.999  0.320
child center 1.417 0.419 4513 0.000 1.008 0.298 4.110 0.000 0.484 0.143 2.455 0.016
self 3.895 0.580 8.640 0.000 2.885 0.430 7.931 0.000
reason 0.639  0.521 8.663 0.000
R 0.273 0.474 0.741 0.860
R’ 0.074 0.225 0.549 0.739
Adj. R’ 0.066 0.210 0.536 0.729
F 8.529; df =1, 106; p = 0.004 15.225; df =2, 105; p = 0.000 42.156; df =3, 104; p = 0.000 72.890; df =4, 103; p = 0.000
DR’ 0.074 0.150 0.324 0.190
JAY S 8.529; df =1, 106; p = 0.004 20.363; df =1, 105; p = 0.000 74.657; df =1, 104; p = 0.000 75.047; df =1, 103; p = 0.000
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